Answer Key (no work shown)

1.

a) (3,2)

b) 4, 1)

¢) (34/29,-76/29)

e
(above is a sketch)

m, =m
1.
b = b,

parallel

inconsistant
2 m =m,

. b, = b,
coinciding

dependent

m, #m,
3. b, = b,
intersecting
independent
e) (12,-30)
fH)ayx+y=12

3x - 6 =3y
b) x +y=1200

15x+10y=16500

c) 2x + 2y =400
x=3y+ 10

2.a)
a)l2
a) 16
b) 30
c) 7
d) 49
e) 483

b) a) no
b) yes
C) no
d) yes
€) no
f) yes
g) no
h) yes
C) a) one to many
b) one to many
many to one
d) a) -12/7
b) (-1/2,-2/2)
C) V193
d) -12/7
e) 7/12
e)m=6/7,
b=-13/7
f) 1.3y =2x-6
2.5y =4x+ 35

3.3y =-2x+2
4.y=x+7
5.y=2x-13
6. m=-5/3
M(-1, 6)
3y =-5x+ 13
7.y=5
o0 ool ¥

(o A 36
b)y_\ *2) T

h)

1.a)2,3,1
b) open
C) min
d)y=1
e)x=3
G, 1)
g) concave up
h) 19
1) empty set
j) all real nos
k) y=1

BN

2.a)-3,-1,-2




b) down

C) max
d)y=-2
e)x=-1

) (-1,-2)

g) concave down
h)yy=-5

1) empty set
) all real nos.
kK)y<-5

1)

1) 1) 1/49
2) -7
3)x=5/14
59/28
7 1.25
2.d: {x<o0Ux>0}
r:{y<0Uy>0}

\
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3. 96

.(X-9)(x+9)
. (P +25)(x-5)(x+5)
[(x+2)-7][(x+2)+7]
. (x-3)(x-4)
.(X+35)(x+6)
. (X-9)(x+6)
.(X+Dx-T)
.Bx+2))(x+1)
9. (4x-3)(x-1)
10.5x -7 (x+ 1)
11.3x + 2)(4x - 1)
12.(x+D(x* =x+1)
13.(x* =3)(x* +3x* +9)
14. [(x - 4)-y]
[(x-4)+yl]
15.[(x - 2) - 3y]
[(x -2) + 3y]
b) 1.-12
2.198
3.yes
4.(x-D(x+2)
x-4)(x+3)
c.1. 2w

(4x-y)

(x-98)
(x*=x+1)
(5-4x)(5+4x)

(12x -5)
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W

. )cy2
(x+4)

(x-1)
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© ® =

.1/2
. 2x/-3

1

(a+5)
1

(x +5)
2(3a> +5a +1)
" ala+D(a+2)

11.

x(3x-4)

(x

e A o e

[S—
e

p—
W N =

—
[V, AN

[S—
.O\

-2)(x+2)(x+4)
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64/125
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O o0 J O

-12

x2y3Z5

xy2 5 xzyz
Xy

-543 +347

112

Ax +4y

8

10.0
11.x
12.64/10
13.5
14.36
15.x°
16.24x

17.
2

22

18,4

19.

Xy

6/.5
X

X
20. x8/x
21.-4

22.11-2414
23.2 +3/10 + 232 +3/20

24 3J5 -3
4
25 \sfﬁ—Z\sfg
' -1
26 J15-3-J10 + 6

5, V17
2" 72
7,33
47 4
2 a){12/6,2/6}
by T0% 2421
-8
3. a){-7,7}
b) {-6, 6}
c){9,-1}
d) {-3,6/4}
4. a)25/2
b) 2
©)9
d) {5,1}
e) {10,2}
5. a) {1}
b) {9}
c) {-4}
6. a) {-9}
b) {5/4,1/4}
¢) {x<-4 and x>6}

1. a)

b)

Trig

. (-4/2,2/2)
. 160

. a)475,835

-245, -605
b) -563,-923
157,517

. a)60

b) 50
c) 27

. a) sin 86

-cos 4
b) - tan 60

-cot 4
¢) -cos 30

. a)66.09,11391

b) 114.65,245.5
c)11.48,191.48

d) 332.46,207.53
V3

. a) -

-3

b \

) 2

c)-1
2

d) 2=

) 2

a) __1_£
2 2

b) -2-42

) 3V73

sin X =




-8J73

COS X =
73
tan X = -3/8
CSC X =
3
seCX = ——
-8
cot x =-8/3
10.sin x = —\2
cotx = =202

Il.a)x=3,y=33
b)x=5y3,y=10
C)Xx=6,y=6V2
d)x=y=4J2

x =~/130,
12.a) 9 =52,
o =38

¥ =50
b) x=2145
y=28

9 =40
c) y=153
x=12.8

13.2) 187.93
b) 333



